Multiple Choice Questions

Question. 1 Suppose for the principal P, rate R% and time T, the simple interest is S and
compound interest is C. Consider the possibilities

(i) C>S

@i)c=s

(iii) C <S Then,

(a) only (i) is correct (b) either (i) or (ii) is correct

(c) either (ii) or (iii) is correct (d) only (jii) is correct

Solution. (a) Let the principal (P) = Rs. 100

Rate of interest (R) = 100% and time period (T) = 2 yr
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Question. 2 Suppose a certain sum doubles in 2 yr at r% rate of simple interest per annum



and R°/o rate of interest per annum compounded annually. Then,

(@) r<R(b) R<r

(c)R =r (d) Cannot be determined

Solution. (b) If the total amount received after 2 yr is same for both simple interest and
compound interest on same principal, then the rate of simple interest is greater than the rate
of compound interest.

i.e.R<r

Hence, option (b) is correct.

Question. 3 The compound interest on Rs. 50000 at 4% per annum for 2 yr compounded
annually is (a) Rs. 4000 (b) Rs. 4080 (c) Rs. 4280 (d) Rs. 4050

Solution. (b) Given, principal (P) = Rs. 50000

Rate of interest (R%) = 4% per annum

Time period (T) = 2 yr We know that,
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Question. 4 If marked price of an article is Rs. 1200 and the discount is 12%, then the selling
price of the article is (a)Rs. 1056 (b) Rs. 1344 (c) Rs. 1212 (d)Rs.1188

Solution. (a) Given, marked price of an article = Rs. 1200 Discount % = 12%

Discount = Discount % on marked price

=Ax1200=12x12=Rs.144

Selling price = Marked price — Discount Selling price = Rs.11200 — Rs. 144 = Rs.1056 Hence,
option (a) is correct.

Question. 5 If 90% of x is 315 km, then the value of x is
(a) 325 km (b) 350 km (c) 350 m
Solution. (b) We have, 90% of x = 315 km
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Question. 6 To gain 25% after allowing a discount of 10%, the shopkeeper must mark the
price of the article which cost him Rs. 360 as

(a) Rs. 500 (b) Rs. 450 (c) Rs. 460 (d) Rs. 486

Solution. (a) Let the marked price of the article be Rs.x.

Cost price of the article = Rs. 360 According to the question,
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Question. 7 If a% is the discount per cent on marked price x, then discount is
(a)ax 100 (b) = x 100
a 100
(c) x x 100 (d) za
Solution. (c) Since, discount can be calculated always on marked price, when discount
percentage is given. Discount = Discount % on marked price = T00X X
Hence, option (c) is correct.

Question. 8 Ashima took a loan of Rs. 100000 at 12% per annum compounded half-yearly.
She paid Rs. 112360. If (1.06)2 is equal to 1.1236, then the period for which she took the
loan is

(@) 2yr(b) 1yr

(c) 6 months (d) 1 %yr

Solution. (b) Given, principal (P) = Rs.1700000

Rate of interest (R%) = 12% per annum compounded half-yearly Let m be the time period, v
Amount paid = Rs.112360
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Question. 9 For calculation of interest compounded half-yearly, keeping the principal same,
which one of the following is true?

(a) Double the given annual rate and half the given number of years

(b) Double the given annual rate as well as the given number of years

(c) Half the given annual rate as well as the given number of years

(d) Half the given annual rate and double the given number of years

Solution. (d)If interest is compounded half-yearly, then R:fz_? and T=2T=2n
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So, half the given annual rate and double the given number of years. Hence, option (d) is
correct.

Question. 10 Shyama purchases a scooter costing Rs. 36450 and the rate of sales tax is 9%,
then the total amount paid by her is

(a) Rs. 36490.50 (b) Rs. 39730.50

(c) Rs. 36454.50 (d) Rs. 33169.50

Solution. (b) Since, sales tax is charged on the sale of an item by the government and is
added to the bill amount. Shyama purchase a scooter of costing = Rs. 36450 Sales tax paid
=9%

So, total amount paid by her

= Rs. 36450 of 9%+ Rs. 36450

- T00x36450 + 36450

=9 x364.5+ 36450 = 3280.5 + 36450 = Rs. 39730.5

Hence, option (b) is correct.

Question. 11 The marked price of an article is Rs. 80 and it is sold at Rs. 76, then the
discount rate is

(a) 5% (b) 95%

(c) 10% (d) approx 11 %

Solution. (a) The marked price of an article = Rs. 80 Sold price of the article = Rs. 76 We know
that,

Selling price = Marked price — Discount Discount = Marked price — Selling price

=> Discount = Rs.80-Rs.76 = Rs.4

Discount % = % x 100= % =5%

Hence, option (a) is correct.

Question. 12 A bought a tape recorder for Rs. 8000 and sold it to B. B in turn sold it to C,
each earning a profit of 20%. Which of the following is true?
(a) A and B earn the same profit (b) A earns more profit than B
(c) A earns less profit than<5 (d) Cannot be determined
Solution. (c) Cost price of tape recorder for/4 = Rs.8000

Cost price of tape recorder for B =20% profit on cost price for A
=1 x 8000 + 8000

=20 x 80 + 8000

=1600 + 8000=Rs.9600

Cost price of tape recorder for C=20% profit on cost price for B
=1 x 9600 + 9600

=1929 + 9600=Rs.11520

Here, profit for A= Rs.1600 Profit for B = Rs.1920

So, A earns less profit than B.

Hence, option (c) is correct.

Question. 13 Latika bought a teapot for Rs. 120 and a set of cups for Rs. 400. She sold
teapot at a profit of 5% and cups at a loss of 5%. The amount received by her is

(a) Rs. 494 (b) 7 546

(c) Rs. 506 (d) Rs. 534

Solution. (c) Latika bought a teapot = Rs. 120 and a set of cups = Rs. 400 She sold teapot at a

profit of 5%, So, selling price of teapot =100 x 120 + 120



=55 +120

=6+ 120 = Rs.126 Also, she sold cups at a loss of 5%.

So, selling price of cups = 400 —% x 400

=400 - 20 = Rs. 380

Then, the total amount received by her = Rs. 126 + Rs. 380 = Rs. 506 Hence, option (c) is
correct.

Question. 14 A jacket was sold for Rs. 1120 after allowing a discount of 20%. The marked
price of the jacket is

(a) Rs. 1440 (b) Rs. 1400 (c) Rs. 960 (d) Rs. 866.66

Solution. (b) Let the marked price of the jacket be Rs. x.

Discount % on marked price = 20%

Seling price of jacket = #1120
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Question. 15 A sum is taken for two years at 16% per annum. If interest is .compounded
after every three months, the number of times for which interest is charged in 2 yrs is
(@)8(b)4(c)6(d)9

Solution. (a) Since, rate of interest is calculated after every three months. Similarly, the time
period for amount in a year will 4 times.

If amount is taken for 2 yr, means 4x2 = 8 times charged in 2 yr.

Hertee, option (a) is correct.

Question. 16 The original price of a washing machine which was bought for Rs. 13500
including of 8% VAT, is

(a) Rs. 12420 (b) Rs. 14580 (c) Rs.12500 (d) Rs. 13492

Solution. (a) The price of the washing machine = Rs.13500

VAT [Value Added Tax] is included in selling price, which is 8%.

The original price of the washing machine including of 8% VAT

- 13500-13500 x 08

=13500-135 x 8 = 13500-1080= Rs.12420 Hence, option (a) is correct.

Question. 17 Avinash bought an electric iron for Rs. 900 and sold it at a gain of 10%. He sold
another electric iron at 5% loss which was bought

Rs. 1200. On the transaction, he has a

(a) profit of Rs. 75 (b) loss of Rs. 75 (c) profit of Rs. 30 (d) loss of Rs. 30

Solution. (c) Avinash bought an electric iron = Rs. 900 He sold it, at 10% profit.

So, selling price of the electric iron = %x 900 + 900

=90+ 900 = Rs. 990

He also sold another electric iron at 5% loss.

Cost price of another electric iron = Rs.1200

So, selling price of the electric iron = 1200% x 1200

=1200-60 = Rs.1140

Total amount paid by Avinash for purchasing electric irons = Rs. 900 + Rs.1200 = Rs.2100
Total received amount = Rs. 990 + Rs. 1140

=Rs. 2130 So, his profit = Rs.2130- Rs.2100 = Rs.30in transaction.



Hence, option (c) is correct.

Question. 18 A TV set was bought for t 26250 including 5% VAT. The original price of the TV
setis

(a) Rs. 27562.50 (b) Rs. 25000 (c) Rs. 24937.50 (d) Rs. 26245

Solution. (c) Cost price of TV set = Rs. 26250.

VAT including = 5%

Original price = Cost price of article including VAT = 26250 % X 26250

- 262503

=26250-1312.5

So, original price of the TV set = Rs. 24937.5 Hence, option (c) is correct.

Question. 19 40% of [100 — 20% of 300] is equal to
(a) 20 (b) 16 (c) 140 (d) 64
Solution. (b) 40% of [100-20% of 300]
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Hence, option (b) is correct.

Question. 20 Radhika bought a car for Rs. 250000. Next year, its price decreased by 10% and
further next year, it decreased by 12%. In the two years, overall decrease per cent in the price
of the car is

(a) 3.2% (b) 22% (c) 20.8% (d) 8%

Solution. (c) Radhika bought a car for Rs. 250000.

Cost price of a car = Rs.250000

Its price decreased next year for 10%.
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Hence, option (c) is correct.

Fill in the Blanks

In questions 21 to 45, fill in the blanks to make the statements true.
Question. 21 ................ is a reduction on the marked price of the article.
Solution. Discount is a reduction on the marked price of the article.

Question. 22 Increase of a number from 150 to 162 is equal to increase of ....................per
cent.

Solution. Initial number = 150

Final number = 162

Increased number = 162 -150 = 12

A 12 120
Per cent of increased number = 158 x 100 =15 = 8%

Question. 23 15% increase in price of an article, which is Rs. 1620, is the increase of ?
Solution. Let the price of the article be Rs. x.
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Question. 24 Discount =................
Solution. Discount = MP — SP
Here, MP = Marked price, and SP = Selling price

Question. 25 Discount = Discount % of ..............
Solution. Discount = Discount % of marked price
[ discount is a reduction given on marked price]

Question. 26 .....................is charged on the sale of an item by the government and is added to
the bill amount.

Solution. Sales tax is charged on the sale of an item by the government and is added to the
bill amount.

Sales tax = Tax % of bill amount

Question. 27 Amount when interest is compounded annually, is given by the
formula...................
Solution. Amount when interest is compounded annually, is given by the formula

r
A= F{h—i]
100

where, P = principal, R = rate per annum and T = time

Question. 28 Sales tax = Tax% of...................
Solution. Sales tax=Tax % of bill amount

Question. 29 The time period after which the interest is added each time to form a new
principal, is called the ..............

Solution. The time period after which the interest is added each time to form a new principal,
is called the conversion period.

Question. 30 .................. expenses are the additional expenses incurred by a buyer for an item
over and above its cost of purchase.

Solution. Overhead expenses are the additional expenses incurred by a buyer for an item over
and above its cost of purchase.

Question. 31 The discount on an item for sale is calculated on the ................
Solution. The discount on an item for sale is calculated on the marked price.

Question. 32 When principal P is compounded semi-annually at r% per annum for t years,
then amount = .................
Solution. When principal P is compounded semi-annually at r% per annum for t years.
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Question. 33 Percentages are to fractions with ................... equal to 100.
Solution. Percentages are equal to fractions with denominator equal to 100.

8
e.g. 8% means 1

Question. 34 The marked price of an article when it is sold for ? 880 after a discount of 12%,
Solution. Selling price of an article = Rs.880 Discount % = 12%
We know that, discount is calculated oh marked price. Let the marked price be Rs. x.
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Question. 35 The compound interest on Rs. 8000 for one year at 16% per annum
compounded half-yearly is ..............., given that 1.08% = 1.1664.

Solution. Given, principal(P) = Rs.8000

Time period (7) =1 yr

Rate (ft) = 16% per annum compounded half-yearly

Question. 36 In the first year on an investment of Rs. 600000, the loss is 5% and in the
second year, the gain is 10%, the net result is ...................

Solution. Investment amount = 7600000

In Tst year, the loss in 1st year = 5%.

So, investment in 1st year = 600000 — 100 x 600000= 600000 — 30000 = 7 570000

In lind year, the gain is 10%.

10
So, net investment = 570000 +106 x 570000= 570000 + 57000 = 7627000

Question. 37 If amount on the principal of Rs. 6000 is written as 6000 ll ' ﬁ] and
compound interest payable half-yearly, then rate of interest per annumiis.................
and................ time (in years) is

Solution. If amount on the principal of 7 6000 is written as 6000[l ' Wj : of and compound
interest

1
payable half-yearly, then rate of interest per annum is 10% and time (in years) is 13 yr.

Question. 38 By selling an article for Rs. 112000, a girl gains 40%. The cost price of the
article was .................
Solution. Selling price of an article = 7 112000
Gain% = 40% .
Let ¥ x ba the cost prce of the artizls,
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Question. 39 The loss per cent on selling 140 geometry boxes at the loss of SP of 10
geometry boxes is equal to ....................

Solution. Let the selling price of 1 geometry box be Rs. 1.

So, the selling price for 140 geometry boxes = Rs.1 x 140 = Rs.140

Similarly, selling price of 10 geometry boxes =Rs. 1x 10=Rs. 10 v

Loss = Selling price of 10 geometry boxes = Rs.10
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Question. 40 The cost price of 10 tables is equal to the sale price of 5 tables. The profit per
cent in this transaction is .................

Solution. Let the cost price of 1 table be Rs. 1.

The cost price of 10 tables = Sale price of 5 tables Profit = Cost price of 5 tables = Rs. 5
Profit percentage :% x 100 = fx 100 =100%

Question. 41 Abida bought 100 pens at the rate of Rs. 3.50 per pen and pays a sales tax of
4%. The total amount paid by Abida is .

Solution. Number of pens bought by Abida = 100 Rate of per pen = Rs.3.50 So, cost of 100
pens = 100 x 3.50 = 1350 Abida also paid 4% sales tax on Rs. 350.

So, the total amount paid by Abida = 350x 100 + 350= 350 x :'—J +350= 14+ 350

=Rs. 364.

Question. 42 The cost of a tape recorder is Rs. 10800 inclusive of sales tax charged at 8%.
The price of the tape recorder before sales tax was charged, is ...................

Solution. The cost of tape recorder, inclusive of 8% sales tax = Rs.10800 Let the price of the
tape recorder before sales tax be Rs. x.
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Question. 43 2500 is greater than 500 by ..............%.
Solution. Difference between 2500 and 500 = 2500 — 500 = 2000

2000 2000
gm0 X 100 =75 =400%

Hence,

Question. 44 Four times a number is a ...............% increase in the number.
Solution. Let x be the number.

So, four times of x is Ax.

Hence, Ax is greater than x by 4x — x = 3x

Az
Percentage increase in x == x 100 = 300%

Question. 45 5% sales tax is charged on an article marked X 200 after allowing a discount of
5%, then the amount payable is ................

Solution. The marked price of the article = 1200 Discount = 5%

Selling price of the article = 200 - ﬁ x 200

=200-10 =Rs.190

Selling price including 5% sales tax = 190 + 100 x 190

=190+9.5=Rs.199.5

Payable amount = Rs. 199.50



True/False

Inquestions 46 to 65, state whether the statements are True or False.

Question. 46.Tp calculate the growth of a bacteria if the rate of growth is known, the formula
for calculatiorfof amount in compound interest can be used.

Solution. True

For calculating the growth of a bacteria4f the rate of growth is known, then we can use the
formula for calculation of amount in compound interest.where, A = growth after nyears, P =
initial number of bacteria and R = rate of growth

Question. 47 Additional expenses made after buying an article are included in the cost price
and are known as Value Added Tax.

Solution. False

In the selling price (known as MRP) include the tax known as VAT (Value Added Tax).

Hence, VAT is always included in selling price.

Question. 48 Discount is a reduction given on cost price of an article.
Solution. False
Discount is a reduction given on marked price not on cost price.

Question. 49 Compound interest is the interest calculated on the previous year's amount.
Solution. True

v Compound interest, Cl = A - P

where,

A=r14+ 47

Here, P = Principal on previous year's amount and A = Present year's amount R = Rate of
interest and n = Time

Question. 50 CP = MP - Discount

Solution. False

The relation between marked price and discount is given by Selling price = Marked price —
Discount

Question. 51 A man purchased a bicycle for Rs. 1040 and sold it for Rs. 800. His loss per
cent is 30%.

Solution. False

Cost pride of the bicycle = Rs. 1040 Selling price of the bicycle =Rs. 800

Loss = Cost price — Selling price = Rs.1040 -Rs.800 = Rs.240
L ez fe
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Question. 52 Three times a number is 200% increase in the number, then one-third of the
same number is 200% decrease in the number.

Solution. False

Let x be the number.

So, three times of x = 3x

Difference between 3x and x=3x-x=2x
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Question. 53 Simple interest on a given amount is always less than or equal to the
compound interest on the same amount for the same time period and at the same rate of
interest per annum.

Solution. False

For 1 yr, the simple interest and compound interest for same amount on same rate of interest
are equal.

But for 2 yr, the simple interest is less than the compound interest for same amount on same
rate of interest.

Question. 54 The cost of a sewing machine is Rs. 7000. Its value depreciates at 8% per
annum. Then, the value of the machine after 2 yr is Rs. 5924.80.

Solution. True

Principal = Rs.7000

Rate of depreciation = 3% per annum Time period = 2 yr
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Question. 55 If the discount of Rs. y is available on the marked price of Rs. x, then the
discount per cent isi x 100%,

Solution. False

Marked price =Rs.x

Discount amount =Rs.y
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Question. 56 Number of students appearing for class X CBSE examination increases from
91422 in 1999-2000 to 116054 in 2008-09. Increase in the number of students appeared is
approximately 27%.

Solution. True

Number of students increase from 116054 in 2008-09 to 91422 in 1999-2000

=116054 — 91422 = 24632

Percentage of increase in number of students
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Question. 57.Selling price of 9 articles is equals to the cost price of 15 articles .In this
9

transaction the profit of 663%

Solution. True
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Question. 58The compound interest on a sum of Rs. P for T years at R% per annum

' i
compounded annually is given by the formula,’ [l + rieii
Solution. False
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Question. 61 The value of a car, bought for Rs. 440000 depreciates each year by 10% of its
value at the beginning of that year. So, its value becomes Rs. 308000 after three years.
Solution. False
The value of a car i.e. principal = Rs.440000 Rate of depreciation (R%) = 10% per annum Time
period (T) = 3 yr

Thes valua of the car after dapesciatian In 34 is gien by
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Question. 62 The cost of a book marked at Rs. 190 after paying a sales tax of 2% is Rs. 192.
Solution. False
Marked price of a book = Rs.190 .
S es tE =%
Thea cost prioa of the boak afar 2% eales gk = 150+ % w 15

=190+ l‘%‘. FBE » 38 = T1ECLE

Question. 63 The buying price of 5 kg of flour with the rate Rs. 20 per kg, when 5% sates tax
is added on the purchase, is Rs. 21.



Solution. True
Total flour bought = 5 kg
Rate of one kg flour = Rs.20

Ciost of 5 kg fiour with 5% sakes tax = 5 x 20 + r:ﬂ ® 5% 20
.
=004+ 2 % 100=100+ 5= F105
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1
Par &g Hour rehe after 5% seles o= %5= T

Question. 64 The original price of a shampoo bottle bought for Rs. 324, if 8% VAT is
included in the price, is Rs. 300.

Solution. False

The original price of a shampoo bottle = Rs.300

Cost price of shampoo bottle after 8% VAT

E
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=3+ 8] =300+ 34 =034

Question. 65 Sales tax is always calculated on the cost price of an item and is added to the
value of the bill.

Solution. False

Sales tax is always calculated on the selling price of an item and is added to the value of the
bill.

Question. 66 In a factory, women are 35% of all the workers, the rest of the workers being
men. The number of men exceeds that of women by 252. Find the total number of workers
in the factory.

Solution. Percentage of women in factory = 35%

Percentage of men in factory = 100 — 35 = 65%

Let the number of persons in the factory be x.

According to the question,
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Question. 67 Three bags contain 64.2 kg of sugar. The second bag contains 5 of the
contents of the first and the third contains 45 % % of what there is in the second bag. How
much sugar is there in each bag?

Solution. The total weight of sugar in three bags = 64.2 kg Let the first bag contains x kg
sugar.



Tre satiord bag contsrs = g = EHD: '.'.,:..H:g

o
Wrdhagmminsnxxd'x?lm=:wf:_2_;&h;
5 2 5 400 250
Sooonzing (o 1he cuestion
dy By

T4 —+ —— =62
5 28D

ol + 2Kl o+ 91x
) 250

= 54ky = 627 w250
TR - T

4 G053
= Em = Fagr
" i kg

Sn, it bag contBire te auger = 2074 ky

=542 .

Second tag cartang the sugar = 26T gr?&.'-'ah'g

&ng thind bag concaing Ihangar:%} ZET =103k

Question. 68 Find the SP, if
(a) MP = Rs. 5450 and discount = 5%
(b) MP = Rs.1300 and discount = 15%
Solution. (a) Marked price = 7 5450 Discount % = 5%
= Belirg piice = Marked pn-::a—-—hx"" L% Werkad prca

=]
= B2l E:':E‘"m
— BARD U e FRITTA
i} Marked price (WP =T 1300
Digcount % = 15%

Seling price = Maromd pron = MI KF

=13:.J_1_1::_l;| #1300 = 1300 - 185 = 112605

Question. 69 Find the MP, if
(a) SP = Rs. 495 and discount = 1%
(b) SP = Rs. 9250 and discount = 73 %

Solution. (a) Selling price (SP) = 7495 Discount % = 1%
el thea mrarksd price b T -

- Seling price = Marked prics - Doo0urt H, yp

10K

= 495*-1—%?1.2

100e - x
= m""ﬂﬁu

98y )
- 45 = ﬁ |y CrosE-meva R beatlan)
= Loy = 4A500 !
= o= B0

Henea, e markas prics = #5008,
[b] Bading prica (57 = TAZED

1 15
Disoount B =T %= —%
N g7 3

Lot marked prica e ¥ 2



Ciscousl %

~.Baling prica = Marked prios - — = e
= EE‘E!J:I——15—3:.I
2100

= G - SO0 — 150
== QEE,D:E

200
rd X - 1;ﬁ£ |y croes-mad k plicatian]
= 1=1m=!‘1m}3

Honca, e merkad orice =1 10000,

Question. 70 Find discount in percent when

(a) MP = Rs.625 and SP = Rs.562.50

(b) MP = Rs.900 and SP = Rs.873

Solution. (a) Marked price (MP) = Rs.625 Selling price (SP) = Rs. 562.50
“~ Dlissaurt = Marked grico - Saling price = ¢ 625 - T562.5= TE2E

Dz % = D'W—W"_'MM-E 2100 = 3290 _yom
e 25 2%

(b} Marked prico (MP) = P30
Saling price (5F) = PETS

L Decoyrd = Marked price — Saling price = 1500 - TAFR) = 127

- Chacaunt aF aF
s DEcourd % - Wi = T = =39
kerkad prics 1 )

Question. 71 The marked price of an article is Rs. 500. The shopkeeper gives a discount of
5% and still makes a profit of 25%. Find the cost price of the article.
Solution. Given, marked price of an article = Rs.500 Discount % = 5%
But it makes a profit of 25%.
Let the cost price of the article be Rs. x.
Coat oriod alter 5% disoaur = 500= . % 500

gLia]
=500 -25= 7475
frcording 10 e questian,
1 M« Ei%af £ =475
125
~ E:#--F.'E
=h I:M
125
= 38 x 100 = T380

Hanrca, cost prica of an aticla s T 380

Question. 72 In 2007-08, the number of students appeared for Class X examination was
105332 and in 2008-09 the number was 116054. If 88151 students pass the examination in
2007-08 and 103804 students in 2008-09. What is the increase or decrease in pass
percentage in class X result?

Solution. Number of students appeared in 2007-08 = 105332 Number of students appeared
in 2008-09 = 116054 Number of students passed in 2007-08 = 88151 Number of students
passed in 2008-09 = 103804



Faased parcantsge o shuderts in 2007-08
Mumber of studenis passed in 200708

o Mumber ol ghadenks appearad i SIOT-(E
_ Ba1st
. - 105192
o BESI0 e
108332
Fesged parcantags of sudants in 2008-08

o Humbwr af shuders passed in 200608
Mumhar af shadents Apppearad n 200806
L v S
116054

- JLSEOR0 _ oo sas
116054

& InCTERSE N pcariags = B9 44 — 368 = STE%

® 150

= 100

=100

Question. 73 A watch worth Rs. 5400 x is offered for sale at Rs. 4500. What per cent
discount is offered during the sale?

Solution. Marked price of a watch = Rs.5400

Selling price = Rs.4500

Discount = Marked price — Selling price = Rs.5400 — Rs.4500 = Rs.900

Discount « 100
Marmed prica

an]
e 1 1]
Bl

& Discounte =

Al
B¢ 2 a4 3

Question. 74 In the year 2001, tbe number of malaria patients admitted in the hospitals of a
state was 4375. Every year this number decreases by 8%. Find the number of-patients in
2003.

Solution. The number of malaria patients admitted in a hospital in 2001 = 4375 Rate of
decrement of malaria patients = 8%

Time period = 2 yri.e.2003-2001=2 yr

Let the number of patients in 2003 be A.

T
5 fomLie. Aap [1- -Rq]
LIS 0o
H
-43?5[1-1]
oo
=837 E = E
&

=1 x w33 = 3700
Hanca, the numbse of palierts in 2000 was 3703,

Question. 75 Jyotsana bought a product for Rs. 3155 including 4.5% sales tax. Find the price
before tax was added.

Solution. A product bought by Jyotsana for Rs. 3155 including 4,5% sales tax.

Let the price of the product before sales tax be Rs. x.

1
Sn r-ru—=J318%
100
&5 rs EEES  aimn
1000
¥
- % - 3158 |-+salen 1t Inciuded in seling price]
156 % 1000 37EEH00
- = L = T3HE13ET
1048 1545
= rwTIATTOT4

Hesge, the pnoe af the product batons sales fax i T3000,.14.

Question. 76 An average Urban Indian uses about 150 L of water everyday.



Activity - 4| Litres per porson par day
Crirkrag 3

Cnaldng

Bathing
Saritaticn
‘Washing detnes
‘Weashing umarsiks
Sardeniveg

Tatal

-

Bl s b wa

(a) What per cent of water is used for bathing and sanitation together per day?
(b) How much less per cent of water is used for cooking in comparison to that used for
bathing?
(c) What per cent of water- is used fdr drinking, cooking and gardening together?
Solution. (a) On the basis of given details, water used for bathing per day = 20 L
Water used for sanitation = 40 L
Total water used per day = 150 L
Percenbagp of weber |8 used for bathing ard santatan logaller per day

B+ - D am
150 150
:ﬁ?:.lfql:lﬁ
14

I} ‘Warlar used fn cooking pardey=4 L
‘Water used for bathing per day =20 L
Cifference betwaen wtar usad for cooking and balhing = 20— 4= 161
=1EBL waler kass used for cocking i compartaizn of Bafing

16 ten _ 3
Inperceriapga = — X 1= — =2 =%
P il 1ED B 3

() Wiater usad for drinking per day = L
Wiatar used fof cookng per day = 4L
Wiatar used lor gardering per dey = ik
Welabar usad loe chinking, cooking and gandenng fogethes = 3+ 4 - 23= 301

a0 1
1 panEalage = e 100 = — =20%
' = 151 ]

Question. 77 In 1975, the consumption of water for human use was about 3850 cu km/yr. It
increased to about 6000 cu km/yr in the year 2000.

Find the per cent increase in the consumption of water from 1975 to 2000. Also, find the
annual per cent increase in consumption

(assuming water consumption increases uniformly).

Solution. The consumption of water for human in 1975 = 3850 cu km/yr

The consumption of water for human in 2000 = 6000 cu km/yr

Increase in consumption of wgjer in 1975 to 2000 = 6000 — 3850 = 2150 cu km/yr

If percerfapa =% A 100 = BEEAS

I 25 4T 128a! Increasa inwaler consumedion = 2150 Gl KInaT
- Annualy, L8, paryesn waar consumption = % = BEcukryr  [E000- 1975 = 2hyr]

153 BEDO
=l = NI = m 2 2%
rpercantags = oo X

Question. 78 Harshna gave her car for service at service station on 27-05-2009 and was
charged as follows

(a)3.10 L engine oil @ Rs. 178.75 per litre and VAT @ 20%.

(b)Rs. 1105.12 for all other services and VAT @ 12.5%.

(c)Rs. 2095.80 as labour charges and service tax @ 10%.

(d)3% cess on service tax.

Find the bill amount.

Solution. (a) The total litres of engine oil used = 3.10 L

Rate of engine oil per litres =Rs. 178.75



The cost of engine oil = 3.10 x 17875=Rs. 554.125
21

The cost al engine ol incuding AR WAT = 554125 - 5.5.1._15:&:ﬁ

= 554125 + 224123

& BEAT25 + 110420 =T BEd a5
1B Arncont peid o all sandzes = 1105.12
; 125

Armount peld nzldng 12.5% VAT = 110812 + o = 11HHBIE

= 110612 + 13814 =T 1242 58
() abour chergas = T2098580
ServitE tax = T
Tat labowr changes incliading 10M: sevcs tes

=ﬁm5m+%xzm-mm 20008 =T ZH0535

id) Coss on sandce b @ 3% =2:-E5$;=.£E —20EEx 3

Freirvics e = T 3080 08, got plhoa)|
= 6288 « TR 2D
Thug, boisl bdl amesum = THEA0E + T1243 24 o TSl S+ PEPD =" 421985

Question. 79 Given, the principal = Rs.40000, rate of interest = 8% per annum compound
annually. Find
(a) Interest if period is one year.
(b) Principal for lind year.
(c) Interest for lind year.
(dj Amount if period is ttoo year.
Solution. Given, principal (P)= Rs.40000
Rate of interest (R) = 8% per annum
ey Campound inberest jar oma yanr,

Wa kncra trial,
A:F{1+ i]"
400

- :m:u[l v %]1 [ror = Tyr]

= 0000 « HE
100
SoAmoun, 4 =400 x 106 = T4320 .
o Compoand inlerest Cl= A - P = 83500 — ¥ 40000 =1 3200
100 Armount of sk yea = Pincpal of lind wear =0 43280, :
ic) Mo, Tor lind yaar,
Frinciped = £43200
Rte of interest. B = 8% per arour
Time, e Tw

Question. 80 In Delhi University, in the year 2009-10, 49000 seats were available for
admission to various courses at graduation level. Out of these 28200 seats were for the
students of General Category while 7400 seats were reserved for SC and 3700 seats for ST.
Find the percentage of seats available for

(a) students of General Category.

(b) students of SC Category and ST Category taken together.

Solution. The total number of seats available for admission in 2009-10 = 49000

Seats reserved for General Category students = 28200

Seats reserved for SC Category students = 7400

Seats reserved for ST Category students = 3700



1
Adrourt fer lInd yeir = q:l,:a:ﬂ[1 . %]

-mx%-mxmﬂnuﬂ&&ﬁ
Comrgodrnd hleresl, Cl= A—P = ¥ 45656 — 743200 =% 3456
[ely M, il parod e fime 1) =247
Principal = ¥ 40000 and rale = 5% pir anmum

- Ao 14-._'5...
100
8y 108 108
Aw 400 Ty — | = 30000 x — x — = T4BEEE
= [: -.;.:.:l 100 100

A Amount, A =F 45556

Question. 81 Prachi bought medicines from a medical store as prescribed by her doctor for
Rs 36.40 including 4% VAT. Find the price of before VAT was added.

Solution.

Than cost of medicrd Bcludng 4% VAT = 73840

Tha orea ol madcing befone £3 YAT R aeling price = cost orica + VAT
= 3640 - 3640

100

= 3640 — 4 % 0,364
= 3680~ 1456
= T34 T 15

Question. 82 Kritika ordered one pizza and one garlic bread from a pizza store and paid Rs
387 inclusive of taxes of Rs 43. Find the tax%.
Solution.

The cosl ol ooe phze and ore ganle bread inciusive 82 tax = 7 43

o The cost of ane pizea and one garic braad without b = T 367 - 43 =7 244

43 100
ST % s — w 10= S = 1P
344 g

Question. 83 Arunima bought household items whose marked price and discount % is as

follows
em thuamitiy Ratain k) Disooiume %
Mo A  packst e TEH i
5 Detergent 1 pache in 27 10
9l Mamkson % packet 153 B A%

Find the total amount of the bill she has to pay.
Solution.

o e asis ol graen dalain the abows takia,

Aala of cne packet of &ila = TH00

Disoount %= 16%

ED.:'IEE:BJD—%!BII--BII—EE-? 16

Rale of ong packat of detergant =1 371

Dl % = 22700

Sn,pﬂ-el - 3= 31x ;fi:::}
Feate of ona packet of rartkeen = 153
D scours® = 18.530%

=347 - 815991 =1 288 003

&0, prioa = 153153 % %- 152 - 163 % 1880 153 — 27.969 =¥ 1 25001

Tkl bil ameunt = €168 4+ T2RI0M + TA25000 =7 5020

Question. 84 Devangi’s phone subscription charges for the period 17-02-09 to 16-03-09 were
as follows



Period Amount n T Service tax %

170206 10 230209 19975 "
40205 10 15-03-03 S e

Find the final bill amount, if 3% education cess was also charged on service tax.

Solution.
O thie basls of abowe gheen takle,
fmount Far period 170208 10 23-02-08 =T 19975

+, Amaurt wilh sanice b 12% = 19675 + %mmm-rmma, 2307 =¥ ppATe
Amaunt for period 2448400 10 1640308 = 7580 25

Armnrunt wiln servoe e ) 100 = REG 2 4 h‘&ﬁﬂbx%

=5E0.25 + SRS =T ERITS
& Tolel bill amount = R22372 + EESELTTS —T HUF B
Total ol armount newsding educalion cess of 3%
= BE2 M5+ I30l BE2 835

- D G54 2w BED BOE
0

= 552 A0S+ 26484
= 0SS

Question. 85 If principal = Rs 100000, rate of interest = 10% compounded half-yearly. Find.
(a) Interest for 6 months. (b) Amount after 6 months.
(c) Interest for next 6 months, (d) Amount after one year.

Solution.
Prircipal (F1 = T103000
Fana of inlenast {A) = 106 compounsias hal-yearty
(&) ‘rigrast for 6 months,

W ko thet,
Cornpaund inaresl, Ol = A—P

B ; :
it A-p{n _] il 6 moreng]

200

1 .

o A1) =1EIJJDG{1+ JE] [ = Vor & marmng]
: S Ny

= TEKEN % ) o  AEEN

=

Loompaang irsems), Gle A - P 10D = T 000K =T &0
(o Armours altar 6 momthes = 8 10S000
feh Inbeeresat for newd & monthe

Principal = Amicurm aftar 8 manths

2 Princlpat (P =T 105000

Rata of imterast (3] = 10%

o A AT

A
- 1n:|u|:1:|:|[1 . ET ©Fr =+ tor 8 manthg]
200

a1
= 105000 % ==
=

22l w4 ypos0
20

vGamgodnd interesl . CI=A - F = 111025 - 1108000 =% 5250
i) Amoant ater ore vaer =T 10250

Question. 86 Babita bought 160 kg of mangoes at Rs 48 per kg. She sold 70% of the
mangoes at Rs 70 per kg and the remaining mangoes at Rs 40 per kg. Find Babita’s gain or
loss per cent on the whole dealing.

Solution.



Babha beoght 160 kg of Mangoses = T 46 per kg
S0, tofal amcurd he pakd = € 43 = 160 = T 7680
She =0kd 70% of margoes al T H0 par kg,

= Casl of 705 manpoes = 160 %x?ﬂnﬂxwx!‘-! TR40

Famaning maungoes = (100 - 7i% = 3%
st af remalning at ¥ 40 par kg -15};% % dm 18 % 3 x 40 =¥ 1020

Tolal amount secahed afer saling mangoes = TTE4D + TIBE0 =1 Bral
o 5P CF 80 there lz-a galn
Girin = 5P — P = PUTA] = € 7530 = T 200

Gain
i G %= 22— w10
;P

i G %= 100 A0 = ET DS
THED

Question. 87 A shopkeeper was selling all his items at 25% discount. During the off season,
he offered 30% discount over and above the existing discount. If Pragya bought a skirt
which was marked for Rs 1200, how much did she pay for it?
Solution.

Marked price ol il shrl < 5230

Cuifug nodmal peseon dicoud G 25% = |E|:;| = I3 = 25 U =300

Price of e skl shar ciscount = 100 < § 30050 = § 90
Innﬂaﬁmnﬂeﬂhﬂpkﬂmramnﬂﬁmwﬂﬁ;’--':IIHE- 1';:-31L'54|.HJ-H‘-"?|

P of skit arfier 200% dsoor] = T80 - T2700 =T 30
S0, T 830 perd by Pragya 1o a sk,

Question. 88 Ayesha announced a festival discount of 25% on all the items in her mobile
phone shop. Ramandeep bought a mobile phone for himself. He got a discount of ? 1960.
What was the marked price of the mobile phone?

Solution.

Lt tha marked price al tha mabie phane be .

; Epatival giscount ar rmois phona = Z5%
Samandasp gat hatal discourd = E1380
baserding 1o the uastian,

1850 l-x:uE
100
= 1980 = =
4
= F =g
&
= ¥ T = 4 =T 7HAD

Henoe. marked prica of mobile phone wag T 78400

Question. 89 Find the difference between compound interest and simple interest on Rs
45000 at 12% per annum for 5 yr.
Solution.



Prncigal [F]= 145000
Feate ol inleresl (/] = 12% par anrum
Tima paricd [T =Sy

Simple internst, 8 = Lt A AT ASH0x 12 % 5
T [0

= 450 = B0 =T 2000
~Cormpound merest, Cled = £

whers, .-1-;{1_%]r 5
R e

i 2@ 20 28 24
o3

= A o —— 3 e e B e M
26 28 245 b

= 35000 = 1721088
BTasa3s
= QR0 3 TG = & THF00
~Cormpound mbanasi, 03 — BTR200 - 145000
= B
o Diherance Bebwnen 5 and (2 = % 34200 -7 27000=1 7300

Question. 90 A new computer costs Rs 100000. The depredation of computers is very high
as new models with better technological advantages are coming into the market. The
depredation is as high as 50% every year. How much will the cost of computer be after two
years?
Solution.

The cost of the new compuier = T 100000

The depreciason rabe = S0%per annum

Tirme period {T) =2y
Led thes oot of compuber alier 2yr= T4

-2

] A:imxlxl
2 2

= 25000 = 1
< A= T 2000
Hance, the coat of compular atter 2 wris £ 28000,

Question. 91 The population of a town was decreasing every year due to migration, poverty
and unemployment. The present population of the town is 631680. Last year the migration
was 4% and the year before last, it was 6%. What was the population two years ago?
Solution.

Lt Lhe popuiation Tea vaars aga = P (Principal)

Frasent poplation af the oan = 4 = EZ1680

Bate of migraticn in st yanr = 4%

Fiate af migraiicn in llnd yaar = 8%

By using e lomnuta, 4 = p[1— %11- 1%]

] a
1 = = ] —-—
= B1530 { 05 lm‘]
24 47
- B3B3 = P ¥ e W=
25 B
e P e R B B
- R
= = R0 1250 = TOO000

Heros, tha papulation of ke was 700000 D0 vears ago,

Question. 92 Lemons were bought at Rs 48 per dozen and sold at the rate of Rs 40 per 10.
Find the gain or loss per cent.



Solution.
Costat 12 lemona =¥ 48 fi- 1 dozen= 12 places]
o oaled mm-f% =K 4

Aien, 10 emone sold by =T &0
. Beling price of 1 r:rnm-t%}-l 4

~Doet pioa of 1 lemon = Saling price of 1 Jaman
-~ Mo prafit 8nd no loss

Question. 93 If the price of petrol, diesel and LPG is slashed as follows

Fiasl Did pricarftire (in ) Mew pricedlire (inT] % Decrease
Famall 45#2 4153 _—
DipsaddL 1284 0BG s

_LPGA AT kg 304D 1780 -—

Complete the above table.
Solution.
For PotroiL,
Cid prica =F 4562
Mew price =% 4082
Oeersmant in price =T 4502 - FADE2 <0 E
-, Docrasss %= - 0 x 160= 2000 _snapw
452 L]

For Dimsall.,
O price = F 22085
Mesw price =T 30084

Decramantinpfca =T BE - TAES =T 7

2 200
o Dechessa % - = 1 e B
T B .:H."-'-'r - = BO0BER ~ B09%

Far LPG,

il pricg =8 33470
e frrioe =R 2TEI0
Dacrarenl in price = 1 X4 - LITRF0 =055
- Decrsase % - £ w | 00= 25!

= @208
arl 4T

Question. 94 What is the percentage increase or decrease in the number of seats won by A,
B, C and D in the general elections of 2009 as compared to the results of 2004?

Political party  Mumber of seats won in 2004 Nisrniber of seats wan in 2009

A % 145
el 116 138
L 4 |
o n_ 12

Solution.



For Bilical party A,

teamier of Saaka won in 2004 = 204

Reambnr of saals vwon ) 2009 = 145

Cewernent i1 tha numbar ot 3eats wan by pacty A = 206 - 145 = 51

» Docrenss %= 51 100 = 288h%
20

Fir Poltcal party A,

Murber al seals war in 244 =116

Mumbar of sesls woanin A0 = 138

Inzremedt in tha number of seals war by party 6 =138 - 116.= 22

Hme%a%wrmwlﬁﬁh

Far Podtical pany O,
Mumzer of 388k won i 2004 = 4
heamizer of saats won in 2003 = 24

Incremant in the number of Beaks won by parky © =20 = 4 =22]

L Incasa %—i:-l:: 100 = 5005

Fiow Poditical grarty 1

Murmbar Gl sedls wamin 2008 = 19

Mumbar Gl geals sximnin 208 =12

Engrament i the rumber of saat won oy pary 0 =12 - 11=1

lneresa % = I_’ X 100 = BraY

Question. 95 How much more per cent seats were won by X as compared to Y in assembly
election in the state based on the data given below?

Fary  Won o afdsd)

i 135

¥ i

7 1

W 13 =
Solution.

i the sasig of above ghe fabike

Tie bofal numbsr of seats won by parky X < 158
The iotal number of ssals woen by garly ¥ =105
2 Tl nuenbesr ol @2als i eecdon = 254

2 Panoaniage al sl wan by faty £ = % = 10 = BET4%
+ Pamcaniage cf scals wan by pany ¥ = %.ﬂ'-ilj: 3571 %

S, dillerancs of peroeEntans = (5374 - 277 % = THIES
Hance, party X waon 18.03% comzared 1o parly ¥

Question. 96 Ashima sold two coolers for ? 3990 each. On selling one cooler she gained 5%
and on selling the other she suffered a loss of 5%. Find her overall gain or loss % in whole
transaction.

Solution.



Selling prics of sach cooier =1 3660
Lat ¥ 7 e the cost prce of both coobars for dshims
F Asnima gk g.'.'in an ansaction of Trel coolay,

Then, * EertaE— +prafn = 5 — CF]
00
21z
3060 - =
e et
Y g - S =20
2t

= 180 % 20 =T 600
Alsa, o0 the anather Fansaction of alfee cosler e hae & Ioss oF 5%

x5 .
Thean B} = x - “rlse=0P-5P)
100 !
18%
= et
i x-wdmxﬁdm

Ea.hmlp:srprim‘u.ﬁs'lilm—?ﬂﬂﬁﬂ+ TAZ00 =T 000
fshrma sad Boelh cooden = T390 2 =1 7980

Herg, CP=SF S0, Ashima hes iogs an avaral Tansazicn

< LioEs = T ADDO - TVe3d =T &0

A loss e 20 w100= 20W _ e goen
BOCO 00 4

Question. 97 A lady buys some pencils for Rs 3 and an equal number for Rs 6. She sells
them for Rs 7. Find her gain or loss %.
Solution.

Lat fhe Lady buye x ndmoer of Sencia for T3,

Cost price for ans pencl, OF, = I'E

Mgn, phe Duwe sarme number of pancils for 16
. Caat price ot ana paneil, CP, = 75
xI

Yo Iodel peelE = a+x =2
=S gale, 25 panclle =17 '

-.Seling price of 1 pancil= rzl
o

Casa 1 War know Bl

Gan =3P -CF i
~Oen= l—é}:r{ﬂ}:f_l
ex x} 2x 2x
= Gdn’ﬁhﬂxﬂm-kg-c]m..jﬂ.'%
cP 2 gx3 3
I
Caee 1L
M5, wa wapy that,
g8 = 0P = 5P

SB_ T _ExE-T .5
x 2= 2x 2x

A5

5
' Loss 4 25 _ 125
Logs %= cem M= bt x 102 —=—%
cE zﬁaE 5 3

Question. 98 On selling a chair of Rs 736, a shopkeeper suffers a loss of 8%. At what price
should he sell it, so as to gain 8%?
Solution.



Lt tha cost prica of achalr = 5
aeling orce of 8 char = #7365

A8 saling a shopeapar sulfers 8% oas,
Acoandirg 1o e quastian,

E=-%X 8 =734

100
= Ber 748
Rt}
= r=m=!’ﬂﬂﬂ'
g3

To gain E% prodt the price shoukd ne=m+%xa}uaw+m-rm

Question. 99 A dining table is purchased for Rs 3200 and sold at a gain of 6%. If a customer
pays sales tax at the rate of 5%. How much does the customer pay in all for the table?
Solution.

The oo price af the dinmg tabie = {35300

- The ding table sokd & a gain of £%.

S0, seling price of the dinng tabie = 3200 - Tﬁui:. s 3200 = 5200+ 192 =€ 3352

Alen, cusbaires pay sala &= 5%
Sefling prioe wilh sakes la = 3362 « 3500 x %- 390 + 166 = J6ELED

Question. 100 Achal bought a second hand car for Rs 225000 and spend Rs 25000 for
repairing. If she sold.it for Rs 325000, what is his profit per cent?
Solution.

Thea cost proa of saccnd hand car = € 2000

Alsa, Aeka] spends daf repaliing = ¥ 26000

50, achesl ol for car = T2E5000 + T25000 = T2e0000

She sold tha cer =T 225000
Profit = 3 325000 = § 25000

=% T5000
Frafit 7000 T
cProfit % - w1 = M ——— = %
CP w 250

Question. 101 A lady bought an air-conditioner for Rs 15200 and spent Rs 300 and Rs 500
on its transportation and repair, respectively. At what price should she sell it to make a gain
of 15%?
Solution.

The cosl price ol air cardilicrs =T 15200

AIED, SPEMT BMOUNT 0N traneporaton = 1300

Spant amaung on repair = 5

fuctual cost prics of air condioner with Imnsporation charge and rapar changes

= 7152800 + T30+ TE00 - T16500 + T EOO =T 16000
For gain 16% she shoud sell £ ior = 16000 | 1@::::%

= 18000+ 150 = 15= 15000 + 2400 =T 18400

Question. 102 What price should a shopkeeper mark on a article that costs him Rs 600 to
gain 20%, after allowing a discount of 10%?
Solution.

The cost price ol ha anide =¥ 600

Gaind = 20%

s Ean = m =T120

100

v SR = FEain+ GP =50+ 1120 =T720

Lest maarked price be € x

Sinca, he glow & disceunl of 105,



Beoarding o the quastion,
=105 ol x =870
= ok

= Tl
o0
100x - 10x
=5 —_— =T
100
i
= =70
L]
- ﬂ_'."‘.l‘:'.'l:-ch!l:l
9
= r =T E0]

Henoa, ragurad maked price 8T 500

Question. 103 Brinda purchased 18 coats at the rate of Rs 1500 each and sold them at a
profit of 6%. If customer is to pay sales tax at the rate of 4%, how much will one coat cost to
the customer and what will be the total profit earned by Brinda after selling all coats?
Solution.

The cagl of each coal =% 1500

The tatal rumiber of coat =18

The balal cost of 18 coat = 81500 = 16 =¥ 27000

If Srinda sofd [har at ol = 5%

Thie amount reomved by Brinda = 27000 - E'."I]{H}A%

= FT000 + 270 % = ST + 160 = ¥ 2R
I clugiomer fery Sabe Tax = 4%

SD-GMHI'I'-E'A'HHSH‘H'IHI-EEEH]#%}HEWEJ:E&EED-E TG B =T 297400

Cost price ol one coal for cusiomr = E’ﬁ.ﬂ_!, =P 1ES3ED
1

Proiil earmed by Brinds = T2RED0 - T2R000 22 1620

Question. 104 Film borrowed Rs 1024000 from a bank for one year. If the bank charges
interest of 5% per annum, compounded half-yearly, what amount will he have to pay after the
given time period. Also, find the interest paid by him.
Solution.

Bormywed erount by Fakim (7 = $1024000

Tirree paind (7] =1 47

Inlerest rabs [/ = 5% por annum comgunded hall-yeaty

Let aToun= A

- &
Fbr compounced hallyeary, A = F[! i] = 1v:|2-4|:|:||:||:1 .5..]
4 " 20 * 5o
[ A half-yaary, A = g ard T -gr]

41
= 1034000 w — x — = B0 47w 41 =T 1075640
40 ab

*. Camgpourd Intarest, CT = A - P= T107E840 = ¥ 1024000 =% 51640

Question. 105 The following items are purchased from showroom T-Shirt worth Rs 1200
Jeans worth Rs 1000 2 skirts worth Rs 1350 each.What will these items cost to Shikha if the
sales tax is 7%?
Solution.

O The base al geen nlemation o the guastion,

Cost of Tekirl = 1200

LoEl of Jeana = T1000

Coel of 2 gkirls = #1350

Tolw cost = P3N = 2I000 - $1350 = T3550
Ehkha hdve iopay sole b = 7%

SE.H'l:ln'-ﬂhmfﬂmt'EW{j—EﬁﬂlH1;#3553=355I3+E4&-5-?3?E&5

Question. 106 The food labels given below information about 2 types of soup cream of



tomato and sweet corn. Use these labels to answer the given questions, (all the servings are

based on a 2000 calories diet.)

Swarnt corm

Nutriticn facts

Hutrition fects

e ng SR o (240 )
ARHIT 7 Serving ey Comnaner

Sereriy mze 1 cup (240 mLk

b 2 sening per

cantainer

AMCURT aT srving & Armaant par SErNg
Calaries B0 Calorlesfrom fat9  Calosies 100 Calories fruml:ltiﬂ;

% Doy value - . _ 4 Dby valoe
Toas e 20 lemifard g e
Samratad Fal-d g Saturaed fn-1.5 g &
':ru:a'esm-:\r'_:‘a):g Chalesnare] 10 mg i
Sk 340 g Sodium 590 mg 2
Sweetcomn 3 Crearn of tomato
Total corboydreats 17g Tinal carnakydiae 179 5%
Cietany fibrs 3 3 Dissary e £ g 1590
.Em;arS-g_ Sga g B
Protaein 3 g Protein X g .
Ytamin & 1M 'ﬁmn‘lﬁ]ﬂ% Wiraran A 208 WREmn L A
Calcium 2% rq'.'ll'l-fl'iﬁ. Caciam I Iroe 55

Percert daibyvakses am nased ona 2000
cakanes et

Per cant cally values ane based or a 20080 caksries
et

3 et i

(a) Which can be measured more accurately the total amount of fat it cream of tomato soup
or the total amount of fat in sweet corn soup? Explain.

(b) On serving of cream of tomato soup contains 29% of the recommended daily value of
sodium for a 2000 calories diet. What is the recommended daily value of sodium in
milligrams? Express the answer up to 2 decimal places.

(c) Find the increase per cent of sugar consumed, if cream of tomato soup is chosen over
sweet corn soup.

(d) Calculate ratio of calories from fat in sweet corn soup to the calories from fat in cream of
tomato soup.

Solution.



(d] Sawing =mze ol 1 oup af sweef oamn = 240 ml
Totai tal = 2 an &%
2% al fat in swest coun of 1 qup (with 2 saring per conbainar)

= & undn

100
qE
== 4k

i [i] e
=l:iwswr-;|=t_g=2.d{.
Servingg size of 1 cug ol creeim of fomalo = 240 mL
Totagifal =2 g an %
e ol 3 craam fomata o 1 cup

-'ih!E-d-ﬂ

100
72
- L
i 1 20

For org saring = EE-E =384

Henca, # 40 1 naanael 020 0 compangionaol 36giodg

(00 O the tase ol gieen infoimation in the qussshon, $he oeam of tomato soup conlnes
29% of the recommendad daly valee of sodium ler a 2000 calanes dist

winers, 29% of 2000 calones = a0 mg

() IF craarn of lonaio Soup is chosen over sweat corn aoup, the Pcreass i sugar
consumed = 119 - 5= g
[ Buger in swasl com soug = B o ard sugar in cream of lomens soup = 113]

Incrmasa %= & s 100= 52 = 120
r 5

(1) Fal in swaat com soup In calcries = B
Fal In crasm iopebs aoup n caloios = 20
cRafige ow D wagy
b= i - R

Question. 107 Music CD originally priced at Rs 120 is on sale for 25% off. What is the SP?
Sonia and Rahul have different ways of calculating the sale price for the items they bought.

el discount of 3% B given, 53 | found 2% al the original
pricg and susimcied the resut fram the crginal prca

As you work on the next problem, try both of these methods to see which your refer.
Solution.

m;najnru:;aﬂrmmcl:!nuﬂzn

25% cigcount an T120 ¥ sale it apelicable = 120 %- %"‘-! a3

{Mpzount =% 30
Safling prioe after discount = 150 - €30 =% 50

Question. 108 Store A and store B both charge Rs 750 for a video game. This week the video
game is on sale Rs 600 at store B and for 25% off at store A. At which store is the game less
expensive?

Solution.

Wideo game avaieble in alone A and ees 5 5 rate = TTRG
Siore & sefls viden game on saka offar =T 500
Slore A solk video game &t discouns = P5%

28

50, the pnce of viceo gama af store B =750 - ﬁ*:-a'.'sl:lz'.l‘ﬁl:l—'-lil'.l'ﬁ:=!'5|1.':.".E.

Hance. ol gbore A e vided gare is e espers,



Question. 109 At a toy shop price of all the toys is reduced to 66% of the original price.
(a) What is the sale price of a toy that originally costs Rs 90?
(b) How much money would you save on a toy costing Rs 90?
Solution.
(@ Criginal cast of lhe ioy = 792
H prica, raduce b BE ol {he ariginal price. Sien orion bacame

=00- 55 L o0 po- 347208
o
86

4B W have discouried amount = BE% ol 30 = :ﬁa}cﬂi:':! 84

Question. 110 A store is having a 25% discount sale. Sheela has a Rs 50 gift voucher and
wants to use it to buy a board game marked for Rs 320. She is not sure how to calculate the
concession she will get. The sales clerk has suggested two ways to calculate the amount
payable.

Method 1 Subtract Rs 50 from the price and take 25% off the resulting price.

Method 2 Take 25% off the original price and then subtract Rs 50.

(a) Do you think both the methods will give the same result? If not, predict which method will
be beneficial for her.

(b) For each method, calculate the amount Sheela would have to pay. Show your work.

(c) Which method do you think stores actually use? Why?

Solution.

i) Marked priea of board gama = 1320
DiEadurt i slore = 25%
Sheala have a gt vaucher il =8 5

in meihod 1 €330 - 760 = T270
Mo 25% diacount on T 270 = 270 — % =270

=27h-ETS=T202E
In maibod 2 26% ol on T 330, than subiract ¥ 50

=320 - _-?JHEEG—E:':EE':—EEI—EI:E‘-W
Heniza, mathod 2 wall 'be Denghclal 1or hee
(D) In methcd 1 Amount pald =T 202.5

In mathod 2 Amaunt paid =1 180
(5] Melbad 1 wil be used by stares bogcause nihis mathad achaal discount is l255.

Question. 111 Living on your own Sanjay is looking for one bedroom appartment on rent. At
Neelgiri appartments, rent for the first two months is 20% off. The one bedroom rate at
Neelgiri is Rs 6000 per month. At Savana appartments, the first month is 50% off. The one
bedroom rate at Savana appartments is Rs 7000 per month. Which appartment will be
cheaper for the first two months? By how much?
Solution.

Tre cre Decroom rabe at Meelgri =T G000 ger manth

Mg, B0 off for firs? twa mondhs, ]

+ Beal far irs! 2 monlbs =2« [ﬁ-}[:l:l-- % x Eﬂ}}]-:& 3 SA00 = TOGE0

Fi COomgarson af Savana apoarments, ©ofMans 50% ofl oy sl meath, whene e cenl forn
edrgom ig © TO00 par moeth = 7000 - i[ﬁk 00

= OO0 = 2600 = T35
But rert 1of two monins in Zavana spparmen] = T 3500 + T7000 = F1CEOD
Henge, Mesigrl appartment will be chaaper by =¥ 10500 - T9800 =7 SO0

Question. 112 For an amount, explain why, a 20% increase followed by a 20% decrease is
less than the original amount.
Solution.



Let the orkgireal amount = T100
20% ncisase in T 10 wil be =100 + 1—2;':':-:“:13

=100+ 20=2120
Wiow, 2% decrasse In T 120 =120 - fj;lmme—:m-znrgﬁ

Hemnce, decreasad oo & ek Than The anginal amounl.

Question. 113 Sunscreens block harmful ultraviolet (UV) rays produced by the sun. Each
sunscreen has a Sun Protection Factor (SPF) that tells you how many minutes you can stay
in the sun before you receive one minute of burning UV rays. e.g. If you apply sunscreen with
SPF 15, you get one minute of UV rays for every 15 minutes you stay in the sun.

(i) A sunscreen with SPF 15 allows only e of the sun’s UV rays. What per cent of UV rays
does the sunscreen abort?

(i) Suppose, a sunscreen allows 25% of the sun’s UV rays.

(a) What fraction of UV rays does this sunscreen block? Give your answer in lowest terms.
(b) Use your answer from part (a) calculate this sun screen’s SPF. Explain how you found
your answer?

(i) A label on a sunscreen with SPF 30 claims that the sunscreen blocks , about 97% of
harmful UV rays. Assuming the SPF factor is accurate,is this claim true. Explain.

Solution.

{il & sursoreen withapf 15 @lows only r1r of the sun's UV ravs
L1

I meang =1 - l_ = % al e sun's LNV ras aba Dy sunscnsan,

15
14
In par-::art:a-r.a:i?w M= %’:93333%
{1y fal Sunecresn alows 25% of tha sum s UV &ye
7HooAa
& Itblocks v rays = 100-25= 75%= =
9 108 4

Bl Suncrean Slows 25% on %' of LIV rays. It meang, it profect = - %u%nl LI raye.

Harca, it's & 5PF 4,
{1} Faige
Azcoedng o the claim dor % atiect of LIV rays
'

1 mhum:EE%EFF

Altecs = ADEFF clakn

Question. 114 A real estate agent receives Rs 50000 as commission, which is 4% of the
selling price. At what price does the agent sell the property?
Solution.

Lat price af the propesty =T x

Commigsion racalwag = 50000

Commigsion parcentage = £%

Agcordng o tha queshicn,

4
:n1m-rm

- oo D000 100 _ mrnngy o0 95 1250000
4

Question. 115 With the decrease in prices of tea by 15%, Tonu, the chaiwallah, was able to
buy 2 kg jnore of tea with the same Rs 45 that he spent each month on buying tea leaves for
his chai shop. What was the reduced price of tea? What was the original price of tea?



Solution.

Let chalwalah purchase p kg e
Lef prioe of lea per k= Tx
15 85

1 rher - —wrm_—
Dipcaur 18% par kg e S

Chahyalah can by 2 kg etrm with 15% disoount,
Bail withiou Clacount, 3
mr= 45 4
15¢ ) 85y ij
and [i: - E]{ﬁ}r + 2= 45 LAl
Aier sabirsg Ege. (7 ard (1),
ah BA x Zx "

— 5+
1o o 400

4E% 15 BE % 2%

Lo 85x15 135

ki = 26T Baf k
B w85 :u:"'"-g P

+Reduced price 32 3072 37148 _ 55748 - 33mparkg
100 100

Question. 116 Below is the report card of Vidit Atrey. Vidit's teacher left the last column

blank. Vidit is not able to make out, in which subject he performed better and in which he

needs improvement. Complete the table to help Vidit know his comparative

performance.Assessment report for- 2009-2010

Clas:s 98 Mame ; Vidie Orate :
Atrey 31 March 20410
Subject Indarmal Exasmination  Tomwml Final %
Assesment

lo Erghsh Resature 20005 EAO0 103125

1 Ergishlbrgusge 2635 00 1137125

4. =ndileerune &7 675 BESHM)

4, Hindi larguage 1625 ERTE B0

5 Mamhematics 43750 B0 130715

f. - Sansknil 14720 BT 1 1 H¥1M

7. Fhylls 45450 S 00 13515

i. Chemistry 40 BA0G 133150

5 Biglogy 4350 B0 1301150

L Hishoryand Chis TR2E 6R7S 100

1. Gepgraphy . MM M50 SN0

Solution.



On e baais of the given data in above tabie, wa can calculale final percentage of each
ELBjecis
10 iy &1

1, English llaraturg = = x100= - x d =" = A1F%
125 5 5

113« 4 _ 452
5

113 - 452 onay

2. English language - —= % 100=

A. Hinch hterahim = 1%'; =100 =85%

4. Hindl language =% x 10q = B4%

5. Mathematies = 190 s 3p0= 1000 _ peeoe
150 T

-

8, Sanskit=_9 1m-%-mm

20
.. 135 <35
T. s - — % ] Aak e
R i e =
8 Cremistry= 122 « 100= 1230 _ e
150 35
; 130 1300
8. Biglegy = —— = 1K = - — BEGES,
oy 180 &

0, HEthdelui:&:%ﬂm-Bm

1. Gﬂn;{a.ptly-%x Il:lj-ﬂ.ﬂ.s‘?i..

Question. 117 Sita’s practicing basket ball. She has managed to score 32 baskets in 35
attempts. What is her success rate in percentage?

Solution.
Sa managed o scorg 32 bazkals in 35 attempls.

Hir BaCoaas s = E %100 = .ﬁ..ag? = G1A2E% = 9143

Question. 118 During school hours, Neha finished 73% of her homework and Minakshi
completed g of her, homework. Who must finish a greater per cent of 8 homework?

Solution.

Maka frizhed her homesork In percentage = 75% = %

Wihere Minskshi complated = guna{ nome wark

Home work el for Hi-'nahnhl-1—§=_:
n parcaniage -g:u 100 = 37 5%
&
o work laft far K = (100 = 7] = 27% =%

bgree, Minakshi fArished a greatsr percentags of nomewank

Question. 119 Rain forests are home to 90000 of the 250000 identified plant species in the
world. What per cent of the world’s identified plant species are found in rain forests?
Solution.

BO00D of the 250000 demiieg plant speces in fe word ae apecifiad as rak forest

In pereentags = AN 114}-:':5'.‘_:'.:'.35-35

B RLLY i




Question. 120 Madhu’s room measures 6m x 3m. Her carpet covers 8 m?. What per t cent of
floor is covered by the carpet?
Solution.

kfaahu's room MEABUBE = B = 3 m

Arma of the oom = 8% 3= 18nT [earen ol molangh = kngih = Dreacth]

Har campet covers =8 it

Araa covened Ly e carpet in Derceniags = 1—1 x 100 - %-#-’-44?&

Question. 121 The human body is made up mostly of water. In fact about 67% of a person
total body weight is water. If Jyoti weights 56 kg, how much of her weight is water?
Solution.
Hyuli's wmight = 56 kg
Where B7% of a persar is tolal body welght is waler.

; ; . &7 ATER
‘Water inJyali pody = 'IIIIIH 56 = E:ﬂ?.ﬂk\g

Question. 122 The per cent of pure gold in 14 carat gold is about 58.3%. A 14 carat gold ring
weights 7.6 grams. How many grams of pure gold are in the ring?
Solution.

The percantage of goid 14 caal gold = 543%
Wieiph! of 14 coamf gald = 78

Pure goid 1 14 caral geksal 76 g= 76 % .'fg'.';i'= %“E‘: 4431y
Hznce, pure gold in 74 g of 14 casl goid ie equal 1o 4.431 g.

Question. 123 A student used the proportion 1'*°=5% to find 5% of 32. What did the student
do wrong?

Solution.

&

5% of 32 wAll 0a Saloiiahed 5= — % 37 = 22 =15
104 0

Buf studant Ending par cartis 5ot 32

Question. 124 The table shows the cost of sunscreen of two brands with and without sales
tax. Which brand has a greater sales tax rate? Give the sales tax rate of each brand?

Costiin® Cost+Taxin®

T, A M= - 75
Lovioeg 2 £5
Solution.

Brng X sunscreen oosl =070

Wil Balee lae =T TS

Saes o sad = EF5 - BT =25
Brand 7 sunacraen coel =1 62

Yilh salas lax =TES

Gales A= TE5-TG2 =135

Herca, brand X has grestar salaa e rate

Salez texrnrt:mrax:%mm = 5:':' =T 14,

Sules kax for brand ¥ = 3.&1!}{]-:@-433&-43“‘
£t 52




